Proofs of Congruent Triangles Extra Practice =~

1. Given: AB= DC; AB||CD A o B

Prove: aABC =aCDA
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2. Given: EF = GF;DF = HF

Prove: DE I GH

(Hint: You must first prove the triangles =)
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- Given: FJ = GH, +JFH = /GHF
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Prove: FG = JH
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4. Given: ZMTY = LNTY
MR = NR

Prove: AMRY = ANRY

<IMTY &2 NTN

MR =R

b B vz

==y

T IVNNT=NY g—prptFC
5. &Y &Ry 5 . Ao i

e .

A MR & ANRY . S5%



5. Given: AR ||CR;E is the midpoint of AD 4
Prove: AABE = ADCE
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6. Given: WZ= YZ: VZ=7X
Prove: AVZW = AXZY V g
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7. Given: m<VWX=90; m<YXW=90;
Prove: AXWV = AWXY
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8. Given: <1=<6; <3=<4; Q_z | VAN { 7
B is the midpoint of AC
~ Prove: AABE = ACBD
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Proofs of Congruent Triangles Extra Practice

1. Given: Zﬁzﬁ,ﬁnﬁ) A

Prove: aABC =aCDA

2. Given: ﬁ E@,ﬁ Eﬁ
Prove: ﬁll_@

(Hint: You must first prove the triangles =)




> Given: FJ = GH, +JFH = /GHF
Prove: FG = JH
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LMYT = ZNYT
4, Given: ZMTY = ZNTY

MR = NR

Prove: AMRY = ANRY




5. Given: AB||CR;E is the midpoint of AD A

Prove: AABE = ADCE
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6. Given: WZ=YZ; VZz=ZX
Prove: AVZW = AXZY v
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7. Given: m<VWX=90; m<YXW=90;
WY = XV
Prove: AXWV = AWXY >
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8. Given: <1=<6; <3=<4;
B is the midpoint of AC
Prove: AABE = ACBD

Giver: ML | ME, JE L KM
H= L
Prove: M= KL

10. Given: A isthe midpoint of MT
A is the midpoint of SR

Prove: MS=TR




